Name:

Date:

Teacher:

Class:

Subtraction 602

What is gray, has a trunk and weighs about 5 pounds?

A mouse going on holiday.

Subtract these numbers to find the total.

L 679,581 2. 930,224 3 28,232 4. 266,303 > 979,706
- 67,112 — 291,448 — 23,771 — 190,320 — 366,075
6. 9,549,636 - 7,270,075 & 391,624 . 390,815 10 415,961
- 1,073,901 — 866,957 - 27,367 — 342,175 — 149,538
1. 742,040 2. 767,589 134,229,300 14 2,710,953 15 6,758,517
— 82,525 — 64,096 — 754,208 — 792,330 — 39,996
16. 181,736 17 930,224 18 28,232 19. 266,303 20 9,771,052
— 23,948 — 291,448 — 23,771 — 190,320 — 9,128,544
2. 2936,451 22 838,609 23. 600,538 24. 5,850,357 25 901,876
— 789,532 — 99,251 — 81,441 — 3,271,752 — 407,234
26. 112,633 271. 3,947,322 28 137,373 29. 9,136,707 30 613,515
— 60,353 — 830,843 — 68,741 - 162,519 — 225,808
3L 500,766 32 413,567 33 8,379,575 34 249,718 3 764,386
— 378,734 — 391,763 — 665,054 — 145,807 — 516,859
36. 789,532 37 651,233 38 2,809,582 39 6,988,097 40- 1,540,892
— 767,602 — 262,193 - 1,696,009 — 1,159,478 — 751,814
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Answer Key

Date:

Teacher:

Class:

Subtraction 602

What is gray, has a trunk and weighs about 5 pounds?

A mouse going on holiday.

Subtract these numbers to find the total.

L 679,581 2. 930,224 3 28,232 4. 266,303 > 979,706
- 67,112 — 291,448 — 23,771 — 190,320 — 366,075
612,469 638,776 4 461 75,983 613,631
6. 9,549,636 - 7,270,075 & 391,624 . 390,815 10 415,961
- 1,073,901 — 866,957 - 27,367 — 342,175 — 149,538
8,475,735 6,403,118 364,257 48,640 266,423
1. 742,040 2. 767,589 134,229,300 14 2,710,953 15 6,758,517
— 82,525 — 64,096 — 754,208 — 792,330 — 39,996
659,515 703,493 3,475,092 1,918,623 6,718,521
16. 181,736 17 930,224 18 28,232 19. 266,303 20 9,771,052
— 23,948 — 291,448 — 23,771 — 190,320 — 9,128,544
157,788 638,776 4 461 75,983 642,508
2. 2936,451 22 838,609 23. 600,538 24. 5,850,357 25 901,876
— 789,532 — 99,251 — 81,441 — 3,271,752 — 407,234
2,146,919 739,358 519,097 2,578,605 494 642
26. 112,633 271. 3,947,322 28 137,373 29. 9,136,707 30 613,515
— 60,353 — 830,843 — 68,741 - 162,519 — 225,808
52,280 3,116,479 68,632 8,974,188 387,707
3L 500,766 32 413,567 33 8,379,575 34 249,718 3 764,386
— 378,734 — 391,763 — 665,054 — 145,807 — 516,859
122,032 21,804 7,714,521 103,911 247,527
36. 789,532 37 651,233 38 2,809,582 39 6,988,097 40- 1,540,892
— 767,602 — 262,193 - 1,696,009 — 1,159,478 — 751,814
21,930 389,040 1,113,573 5,828,619 789,078
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